



REVERSE DERIVATIONS IN PRIME RINGS WITH RIGHT IDEALS

<sup>1</sup>K. SANKARA NAIK\*, <sup>2</sup>S. SREENIVASULU, <sup>3</sup>K. SUVARNA

<sup>1,3</sup>Department of Mathematics,  
Sri Krishnadevaraya University, Anantapuramu-515003, (A.P.), India.

<sup>2</sup>Department of Mathematics,  
Government College (A), Anantapuramu-515001, (A.P.), India.

(Received On: 21-07-16; Revised & Accepted On: 29-07-16)

ABSTRACT

In this paper we present some results on the reverse derivations in prime rings with right ideals. We prove that if a reverse derivation  $d$  acts as a homomorphism or an antihomomorphism on a nonzero right ideal  $U$  of a prime ring  $R$ , then  $d = 0$ . Also, we show that if  $[d(x), x] = 0$  or  $[d(x), d(y)] = 0$  or  $[d(x), d(y)] = [x, y]$  for all  $x, y \in U$ , then  $R$  is commutative.

*Mathematics subject classification:* primary 17A30.

*Keywords:* Commutator, right Ideals, prime ring, derivation, Reverse derivation.

INTRODUCTION

Mecdonald [3] established some group-theoretic results in terms of inner derivations. Bell and Kappe [1] studied the analogous results for rings in which derivations satisfy certain algebraic conditions. Bell and Moson [2] proved the commutativity of near-rings and rings using strong commutativity-preserving derivations. We prove that if a reverse derivation  $d$  acts as a homomorphism or an antihomomorphism on a nonzero right ideal  $U$  of a prime ring  $R$ , then  $d = 0$ . Also, we show that if  $[d(x), x] = 0$  or  $[d(x), d(y)] = 0$  or  $[d(x), d(y)] = [x, y]$  for all  $x, y \in U$ , then  $R$  is commutative.

PRELIMINARIES

Throughout this paper  $R$  will denote a prime ring and  $Z$  its Centre. A ring  $R$  is prime if whenever  $A$  and  $B$  are ideals of  $R$  such that  $AB = 0$  then either  $A = 0$  or  $B = 0$ . Also a ring  $R$  is called prime if  $xay=0$  implies  $x = 0$  or  $y = 0$  for all  $x, y, a$  in  $R$ . A ring  $R$  is said to be  $n$ -torsion free, if there exists a positive integer  $n$  such that  $nx = 0$  implies  $x = 0$  for all  $x \in R$ . An additive mapping  $d : R \rightarrow R$  is called a derivation, if  $d(xy) = d(x)y + xd(y)$  for all  $x, y \in R$ . An additive mapping  $d : R \rightarrow R$  is a reverse derivation if  $d(xy) = d(y)x + yd(x)$  for all  $x, y \in R$ . We use the identities  $[xy, z] = [x, z]y + x[y, z]$ ,  $[x, yz] = [x, y]z + y[x, z]$

To prove the main results we require the following results [1]:

Lemma 1:

- (i) Let  $U$  be a subring of a ring  $R$  and let  $d$  be a derivation of  $R$  which acts as a homomorphism on  $U$ . Then  $d(x)x(y-d(y)) = 0$  for all  $x, y \in U$ .
- (ii) Let  $V$  be a right ideal of  $R$  and  $d$  be a derivation of  $R$  acting as an antihomomorphism of  $V$ . Then  $d(x)y[r, d(x)] = 0$  for all  $x, y \in V$  and  $r \in R$ .

**Theorem 1:** Let  $R$  be a semiprime ring. If  $d$  is a derivation of  $R$  which is either an endomorphism or an antiendomorphism, then  $d = 0$ .

**Theorem 2:** Let  $R$  be a prime ring and  $U$  a nonzero right ideal of  $R$ . If  $d$  is a derivation of  $R$  which acts as a homomorphism or an antihomomorphism on  $U$ , then  $d = 0$  on  $R$ .

*Corresponding Author: K. Sankara Naik\*, <sup>1,3</sup>Department of Mathematics,  
Sri Krishnadevaraya University, Anantapuramu-515003, (A.P.), India.*

Now we prove the following results:

**Theorem 3:** Let  $R$  be a prime ring and  $U$  a nonzero right ideal of  $R$ . Suppose  $d: R \rightarrow R$  is a reverse derivation of  $R$ ,

- (i) If  $d$  acts as a homomorphism on  $U$ , then  $d = 0$  on  $R$ .
- (ii) If  $d$  acts as an antihomomorphism on  $U$ , then  $d = 0$  on  $R$ .

**Proof:** (i) If  $d$  acts as a homomorphism on  $U$ , then we have

$$d(y)d(x) = d(yx) = d(x)y + xd(y), \text{ for all } x, y \in U. \quad (1)$$

We replace  $y = yx$  in equation (1), then

$$d(yx)d(x) = d(x)yx + xd(yx), \text{ for all } x, y \in U. \quad (2)$$

By multiplying (1) with  $d(x)$  on right side and using  $d$  is a homomorphism on  $U$ , we get

$$\begin{aligned} d(yx)d(x) &= d(x)yd(x) + xd(y)d(x). \\ d(yx)d(x) &= d(x)yd(x) + xd(yx) \end{aligned} \quad (3)$$

By combining equations (2) and (3), we get

$$d(x)yx = d(x)yd(x), \text{ for all } x, y \in U \quad (4)$$

i.e.,  $x = d(x)$ .

So,  $(d(x) - x)d(x) = 0$ .

Thus  $d(x^2) = xd(x)$ .

Since  $d$  is a reverse derivation, we have  $d(x)x = 0$ .

By linearizing  $x$ , we obtain

$$d(x)y + d(y)x = 0, \text{ for all } x, y \in U. \quad (5)$$

We replace  $y$  by  $xy$  in equation (5), then we have

$$d(y)xx = 0, \text{ for all } x, y \in U \quad (6)$$

If we right multiply by  $x$  in equation (5), we get

$$d(x)yx + d(y)xx = 0, \text{ for all } x, y \in U.$$

From the above equations, we obtain

$$d(x)yx = 0, \text{ for all } x, y \in U.$$

By substituting  $y$  by  $ys$  in this equation, we get  $d(x)ysx = 0$ , for all  $x, y \in U$  and  $s \in R$ . Thus for each  $x \in U$ , the primeness of  $R$  implies that either  $d(x)y=0$  or  $x=0$ . But  $x = 0$  also implies that

$$d(x)y = 0, \text{ for all } x, y \in U. \quad (7)$$

If we replace  $x$  by  $xr$  in equation (7), we get

$$d(xr)y = 0, \text{ for all } x, y \in U \text{ and } r \in R.$$

Then  $d(r)xy + rd(x)y = 0$ . So we get

$$d(r)xy = 0, \text{ for all } x, y \in U \text{ and } r \in R \quad (8)$$

Again we replace  $x$  by  $xs$  in equation (8). We have

$$d(r)xsy = 0, \text{ for all } x, y \in U \text{ and } s, r \in R.$$

i.e.  $d(r)xy = 0$ , for all  $x, y \in U$  and  $s, r \in R$ .

Since  $R$  is prime, it follows that

$$d(r)x = 0, \text{ for all } x, y \in U \text{ and } r \in R. \quad (9)$$

In equation (9), we substitute  $r$  by  $rs$ . Then we have

$$d(rs)x = 0 \text{ for all } x \in U \text{ and } r, s \in R$$

i.e.  $d(s)rx + sd(r)x = 0$ , for all  $x \in U$  and  $r, s \in R$ . So we get

$$d(s)rx = 0, \text{ for all } x \in U \text{ and } r, s \in R. \quad (10)$$

i.e.,  $d(s)R = 0$ , for all  $x \in U$  and  $r, s \in R$ .

Since  $R$  is prime, either  $d(s) = 0$  or  $x = 0$ . But  $x = 0$  also implies that  $d(s) = 0$ , for all  $s \in R$ , then  $d = 0$  on  $R$ .

(ii) Suppose  $d$  acts as an antihomomorphism on  $U$ . By our hypothesis, we have

$$d(xy) = d(y) d(x) = d(y)x + y d(x), \text{ for all } x, y \in U. \quad (11)$$

By substituting  $y$  by  $xy$  in equation (11), then

$$\begin{aligned} d(xy)d(x) &= d(x(xy)), \text{ for all } x, y \in U. \\ &= d((xx)y) \end{aligned}$$

$$d(xy) d(x) = d(y)xx + yd(xx), \text{ for all } x, y \in U. \quad (12)$$

$$d(xy) d(x) = d(y)x d(x) + y d(x) d(x), \text{ for all } x, y \in U \quad (13)$$

By combining equations (12) and (13). Then

$$d(y)x d(x) = d(y)xx, \text{ for all } x, y \in U. \quad (14)$$

i.e.  $d(x) = x$ , for all  $x \in U$ .

So  $(d(x) - x) = 0$ , for all  $x \in U$ .

We right multiply this equation with  $d(x)$ . Then

$$(d(x) - x) d(x) = 0, \text{ for all } x \in U.$$

Thus  $d(x^2) = x d(x)$ , for all  $x \in U$ .

Since  $d$  is a reverse derivation, we have  $d(x) x = 0$ .

By linearizing  $x$ , we obtain

$$d(x)y + d(y)x = 0, \text{ for all } x, y \in U. \quad (15)$$

We replace  $y$  by  $xy$  in equation (15), then we get  $d(y)xx = 0$ . So, we have obtained equation (6). The remaining proof is same as in proof of (i).

**Theorem 4:** Let  $R$  be a 2-torsion free prime ring,  $U$  a nonzero right ideal of  $R$  and  $d$  be a nonzero reverse derivation of  $R$ . If  $[d(x), x] = 0$  for all  $x \in U$ , then  $R$  is commutative.

**Proof:** We have  $[d(x), x] = 0$  for all  $x \in U$ . (16)

By linearizing  $x$ , in equation (16), we obtain

$$[d(x), y] + [x, d(y)] = 0, \text{ for all } x, y \in U. \quad (17)$$

By substituting  $y$  with  $yx$  in equation (17), we get

$$\begin{aligned} [d(x), yx] + [x, d(yx)] &= 0, \text{ for all } x, y \in U. \\ [d(x), y]x + y[d(x), x] + [x, d(x)y] + [x, xd(y)] &= 0, \text{ we have} \\ [d(x), y]x + [x, d(x)]y + d(x)[x, y] + [x, x]d(y) + x[x, d(y)] &= 0, \end{aligned}$$

then we get

$$d(x)[x, y] = 0, \text{ for all } x, y \in U. \quad (18)$$

We replace  $y$  by  $yz$  in equation (18), we have

$$\begin{aligned} d(x)[x, yz] &= 0, \text{ for all } x, y, z \in U. \text{ We get} \\ d(x)[x, y]z + d(x)y[x, z] &= 0, \text{ then} \\ d(x)y[x, z] &= 0, x, y, z \in U \text{ according to (18).} \end{aligned}$$

Again by substituting  $y$  by  $yr$  in this equation, we have

$$d(x)yr[x, z] = 0, \text{ for all } x, y, z \in U \text{ and } r \in R.$$

Since  $R$  is prime, either  $d(x)y = 0$  or  $[x, z] = 0$ . If  $d(x)y = 0$ , then  $d(U)U = \{0\}$ .

But  $d(U)U \neq \{0\}$ , since  $d \neq 0$ ,  $U \neq \{0\}$  and  $R$  is prime. Thus  $[x, z] = 0$  for all  $x, z \in U$ . So  $U$  is commutative.

Hence  $R$  is commutative.

**Theorem 5:** Let  $R$  be a 2-torsion free prime ring,  $U$  be a nonzero right ideal of  $R$  and  $d$  be a nonzero reverse derivation of  $R$ . If  $[d(x), d(y)] = 0$  for all  $x, y \in U$ , then  $R$  is commutative.

**Proof:** we have  $[d(x), d(y)] = 0$ . (19)

By taking  $y = yx$  in equation (19), we have

$$\begin{aligned} [d(x), d(yx)] &= 0, \text{ for all } x, y \in U. \\ [d(x), d(x)y + xd(y)] &= 0. \\ [d(x), d(x)y] + [d(x), d(x)]y + x[d(x), d(y)] + [d(x), x]d(y) &= 0. \text{ We get} \\ d(x)[d(x), y] + [d(x), x]d(y) &= 0 \text{ for all } x, y \in U. \end{aligned} \tag{20}$$

By substituting  $d(y)$  with  $d(z)y$  in equation (20), we have

$$d(x)[d(x), y] + [d(x), x]d(z)y = 0, \text{ for all } x, y, z \in U. \tag{21}$$

Again we take  $y$  by  $yr$  in equation (21). Then we have

$$\begin{aligned} d(x)[d(x), yr] + [d(x), x]d(z)yr &= 0, \text{ for all } x, y, z \in U \text{ and } r \in R. \\ d(x)y[d(x), r] + d(x)[d(x), y]r + [d(x), x]d(z)yr &= 0. \end{aligned} \tag{22}$$

From equations (21) and (22), we get

$$\begin{aligned} d(x)y[d(x), r] &= 0, \text{ for all } x, y, z \in U \text{ and } r \in R. \\ d(x)U[d(x), r] &= \{0\}. \\ d(x)UR[d(x), r] &= \{0\}. \end{aligned}$$

Since  $R$  is prime we have either  $d(x)U = \{0\}$  or  $[d(x), r] = 0$ .

Since  $d \neq 0$ ,  $U \neq \{0\}$  and  $R$  is prime it follows that  $d(x)U \neq \{0\}$ .

So  $[d(x), r] = 0$ . Then  $d(x) \in Z$ , centre of  $R$ . Hence  $[d(x), x] = 0$ , for all  $x \in U$ .

From Theorem 4,  $R$  is commutative.

**Theorem 6:** Let  $R$  be a 2-torsion free prime ring,  $U$  be a nonzero right ideal of  $R$  and  $d$  be a nonzero reverse derivation of  $R$ . If  $[d(x), d(y)] = [x, y]$  for all  $x, y \in U$ , then  $R$  is commutative.

**Proof:** We have  $[x, y] = [d(x), d(y)]$ , for all  $x, y \in U$ . (23)

By taking  $y$  by  $yz$  in the equation (23), we have

$$\begin{aligned} [x, yz] &= [d(x), d(yz)] \\ y[x, z] + [x, y]z &= [d(x), d(z)y + zd(y)]. \\ y[x, z] + [x, y]z &= [d(x), d(z)y] + [d(x), zd(y)]. \\ y[x, z] + [x, y]z &= d(z)[d(x), y] + [d(x), d(z)]y + z[d(x), d(y)] + [d(x), z]d(y). \end{aligned}$$

From Lemma ([2] Lemma 5(ii)), we obtain

$$d(z)[d(x), y] + [d(x), z]d(y) = 0. \tag{24}$$

We put  $z = x$  in this equation. Then

$$d(x)[d(x), y] + [d(x), x]d(y) = 0. \text{ This is equation (20). The remaining proof is similar to the proof of Theorem 5.}$$

## REFERENCES

1. Bell, H.E. and Kappe.L.C.: Rings in which derivations satisfy certain algebraic conditions, Acta. Math. Hangar. 53(1989), 339-346.
2. Bell, H.E. and Moson, G.: On derivations in near-rings and rings, Math.J.Okayama Univ. 34(1992), 135-144.
3. Mecedonald, I.D.: Some groups elements defined by commutators, Math. Scientist, 4(1979), 129-131.

**Source of Support: Nil, Conflict of interest: None Declared**

**[Copy right © 2016, RJPA. All Rights Reserved. This is an Open Access article distributed under the terms of the International Research Journal of Pure Algebra (IRJPA), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.]**